ACCOUNTING AND FINANCE

Paper- 11 : Financial Accounting and Decision Making

. Time : Three Hours . M.M. : 100
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_ Part-A ( WTT-27)

What do you mean by Departmental Accounting?

faarie orEies O a1 IRM &7 -

When 'Branch Stock Adjustment Account' is prepared'? .

YIRET GHRISH ST 9 §9/-T ST &7 |

What is the difference between 'Under insurance' and 'shortsales™?
=T ST UF g fah 7 a9 s &7

What is meant by Giltedged securities?

fn'cq% 14

S wfrafrEl ¥ @

- Why voyage accounts are prepared?

STEron I W W R TR & S 87

Write two differences between Marginal cest and Direct cost.

HHT @RI T et arTd | &1 X aasd | |

Find sales in value if BEP is 60% of sale§ and margin of safety is Rs.
3,60,000. '

fpa ¥y 9ar=zd AR BEP is 60%of sales and margin of safety is Rs.
3,60,000.

Define budget. S9ic @ gR¥INT @Il . - o
What do you mean by Jdeal)Standard? sl I ¥ 947 IR9d 57
How biidgeted profitiand.standard profit are computed? ‘

| ot T T S ST 1 IR B B 7

Part-B (Compulsory)
w9 ( Afar )

. What arefhe advantages to the managers by preparing departmental

it and loss account?

'mi%uanam—aﬁmaﬂﬁ ¥ YGUD! DI DA § AT B &7
A had'a opening stock of 10,000 containers costing Rs. 9 each.
During the year ended 2014 March, a purchased 57,000 containers
costing Rs. 10 each. During the period A sent 58,000 containers to
its costumes which were not; returnable charged reparatory to them
@ K. 12 cach The dg e s lock account.

i is. You are requireéd t scount.
ﬂ,‘f‘;@’ﬁ 9 %. ‘trrn]aqmmﬁ 10,000 TR Bl IRFID WS ATl
20 14 A B W B det ¥ B IR 3 110 ®. U BN B
aFTd 9% 57,000 R $a ) 39 oy & ARM o 7 I
el @1 58,000 FR o1 T e 12 6. Wi e} 31T |
5o} fpar R Sl 5 I AT TTE ¥ | BRI BT 3ARH I T
ST Ted TR B SR TR AR &4 OR fapar S & |
Sl PR T TR R e B |

13 What do you understand by Responsibility Account” Discuss its
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14.

15. -

16

advantages.

SRS g ¥ mqmnﬂm%?MWaarsﬁl
Explain what factors will affect the own or lease decisions.

RSN 6 WG % &A1 91 e W o & (ol @ &F 3 aes
TIfa Ay

Compute material price variance :.(i) On the basis of purchase of

material, (ii) on the basis of consumptlon of material from the
followmo date:

_ﬁwm%mﬁ@ﬁammqﬁwm(l)ﬁmﬁmﬁm

3 YR TR, (2) AN D STERT B NER |
Actual price Rs. 2.50 and standard price Rs. 2.40 per kg. purchase.of
matenal 4000kg, Material consumed 4300 kg.

Part-C ( -9 )

Unit-1( FFE-1) ‘
Arvind Limited Bhilwara has a branch at Beawar, Head Office sends
goods to its branch at cost plus 10%. Head office and branch sell
ooods to customers by adding profit at uniform gross profit rate of
35% on their respective costs. _ The trial balanceof the company and
its branch on 31march 2014 are as follow".

IR~ fifics W@ﬁwﬁw%mmmﬁm S v
& AR F 10 YREK SSE q1d At € | 9EH e Td o
AT AT A 25 SR AT SISdY Al [35d TP Bl FX &1 3 1
q, 201 4 B N T AN $] doEe T UER S -

567,000 5,67,000 2,33,400 2,33,400

Prepare profit & Loss account and Balance Sheet of H.O. Branch and

Company as a whole. Charge- depreciation @ 10% on Fixed Assets.

Assume 50% of opening stock and entire closing stock of branch
represent goods transferred from H.O.

Qe T TRET U9 SRt B I e wif w9 R YR

muw@mﬁa‘lwmmmml

™

Particulars Headollice Headollice Branch  Branch
Debit Rs. CredltRs. Debit Rs. CredltRs.

Fixed Assets : . 1,380,000

Share Capital 2,00,000

Branch/H.O..Account 30,000 30,000

P& LA/con 1-4-13 40,000

Stock om-1<4-13 24,000 11,000

Goodiserit 10/ received

by branch 1,21,000 1,21,000 _

Purchase and sales  2,50,000 1,80,000 66,000 1,23,750
\ Selling expenses 15,000 . 8,000

Discount from Creditors 1,000 : 250

Debtors & Creditors 44,00 25,000 7400 79,400

Bank - 24,000 20,000
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PR ¥ TRy WIe BT TR Bl &l
16. Wh s Or/31d1 _

| s at are Investment Accounts? Discuss the accounting treatment of

.\'p}lrchas.e and sales of Investment in the books of Investor. Give

journal entries with imaginary figures. , _

o ﬁﬁaﬁ@ﬁw%?wﬁﬁmzﬁgﬁﬁﬁﬁmzﬁ@ﬂaw

R D wrE § raiee IIER GHESY | P it afed el
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" | Unit-TI( 3&E-11)
17.~ - Compute Shut Down Point from the following information
. frfefad gEeell | Swe a1 B gReer BIY

Under Under
Normal Business
Business Recession
Conditions Conditions

Monthly 40,_000 S ) 8,000

~ Demands (Q)
Selling price per R§.50 Rs. 44 units
Variable cost per unit Rs.40 - - Rs.39
(648,000 - Rs. 6,48,000

Annual fixed cost
" If business concern wants to shut down the business activities for
recession period of three months(during temporary discontinuance

~ period monthly fixed costs will be'halved. Rs. 1,600 per month will
be required to ensure seclirity ‘of business assets and Rs. 5,000 will
be required to restart the business activities ofter expiry of recession

period of three months,

Wm@%mq@aﬁa%W»mﬁmﬁW
mﬁﬁmaﬁﬁr%lwmﬁwﬁﬁ#mﬁmmméﬁ»
a@lﬁamﬁmaﬁwﬁiﬁaﬁww 1,600 . 9la¥E
mﬁﬁﬁmmmu@naméﬁqma%ﬁwaﬁmzﬁm
WW@@:WWMW;S,QOO w9y g |

Or/3Ydr |
17. ‘What'is ‘Budgetary Control' and how is it prepared? What precautions

should be taken while preparing the budget to make it more reliable?

explain. - :
mzﬂﬁuauram%,u—ééﬁmmm%?mm b &l
maﬁﬁmﬂaﬁﬁmﬁﬁmﬁswﬁmﬁrw?ml
Uit TSRO

Standard labour hours per unit of product x and y are 15 hours and
0 hours respectively. Both products require identical labour and
standard wage rate per hourisRs. 5. In the year 2014, 10,000 units of
product X and 15,000 units of producs were produced. The total
{abour hours actually paid on both products were 450 500 hours
wspeaiv§1y, and actual wage bill came to Rs. 23,00,000. Above

e ~

18.

Scanned by CamScanner



—

"18.3)

)

~mentioned labour hours paid include 12,000 hours pdid for @ Rs. 7

Per hour, 9,400 paid for @ Rs. 7.50 per hour and thé:balance have
been paid @ Rs. 5 per hour. 200 labour hours were'loston account of

machine breakdown and power failure. You aréqequired to compute ‘
labour variances. ~ . '

N IAR x AR y D Y 9RY s gHm A9G_H9: 15 G0 TE 20
e T [T SERT @ 1T 16 & SR DL v B AaeaHdl &

T G HUeT YHIT A IR 5 Y9 %1 A 2014 W X SR 6

10,000 SPHITT dT y SIS H 1,5,000 FHSal SA@fed B T
EAF TRIH (B T o B 80 HIT: 450 500 I TAT Bl
OGN @l f9e 23,00,000 999 oI S ¥ 12,000 € 7 R
9 BUC BT &R R YR 1,9,400 "0 7.50 BT B X W IR
T AT I HUE,5 I &R W gPR W | 9N g 9 Roreh 9= B

"PBRUT 200 SH,HIS T B TR |

BT 57 ARl dT TREe BT &1
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 What is a easht budget? Give its advantages.

b G dufefnd Fad &7 3D o9 ST |

What.is ‘meant by Responsibility Accounting? Explain its
characteristics. ‘

SSIRETE T & T A ¥? S TRT A&7 qarsy |

TEY LY T RTISLILT N

Scanned by CamScanner



